

MULTISET-VALUED IMAGES OF FUZZY SETS

Sadaaki MIYAMOTO* and Kyung Soo KIM**

* Institute of Information Sciences and Electronics
 University of Tsukuba, Ibaraki 305-8573, Japan
 email: miyamoto@esys.tsukuba.ac.jp

** Doctoral Program in Engineering
 University of Tsukuba, Ibaraki 305-8573, Japan
 email: kim@odin.esys.tsukuba.ac.jp

Abstract: An image of a set that produces a multiset from an ordinary set and its extension to fuzzy multisets is considered. For each input element, its image is added to the output regardless whether or not there already exists the same image in the output. Theoretical properties such as commutativity of the image with α -cut or multiset addition are proved. Generalization to the image by multivariable functions is moreover defined.

Keywords: fuzzy multiset, multiset-valued image, α -cut.

1 Introduction

Multisets that are also called bags [3, 6] have weaker mathematical properties than ordinary sets, and therefore have not extensively been studied theoretically. Nevertheless, multisets are commonly observed in various processes in information systems. For example, a standard language for relational database actually handles multisets [2].

Fuzzy multisets have been proposed by Yager [13] and several authors have studied its theory and applications [4, 5, 10, 11, 12, 14], and recently, the authors [8, 9] have found new basic relations and operations by using the notion of the membership sequence for each element, whereby new aspects have been opened in fuzzy multiset theory.

In this paper a new image that produces a multiset from an ordinary set is proposed. This image naturally arises in information processing, as we will see below. Theoretical properties of the image herein is shown to contrast them with those for the ordinary image.

2 Multiset-valued image

Assume first that all universal sets considered herein are finite. Let $X = \{x_1, \dots, x_m\}$ and $Y = \{y_1, \dots, y_n\}$ be two universal sets and assume a mapping $f: X \rightarrow Y$. Let us consider a simple example by which the idea of the new image is introduced.

Example 1. Let $X = \{x_1, \dots, x_5\}$, $Y = \{y_1, \dots, y_5\}$ and f be given by $f(x_1) = f(x_2) = f(x_3) = y_1$, $f(x_4) = f(x_5) = y_2$. Assume $A = \{x_1, x_2, x_3, x_4\}$, then $f(A) = \{y_1, y_2\}$. Let us consider the following simple procedure:

“ Take elements in A one by one; apply f and output the resulting symbol for the element sequentially, regardless whether or not the symbol already exists in the collection of output symbols.”

When applied to the above example, the output is y_1, y_1, y_1, y_2 for the input $A = \{x_1, x_2, x_3, x_4\}$. Since the input is a set, the output should be identical for the change of the order of the input, e.g., x_1, x_2, x_4, x_3 . Thus, the output should be a multiset.

The above procedure is interpreted as a multiset-valued mapping defined on the collection of all subsets of X . It is denoted by $f[A]$, in order to distinguish it from the ordinary image $f(A)$. $f[A]$ is called a multiset-valued image.

For the above example with $A = \{x_1, x_2, x_3, x_4\}$,

$$\begin{aligned} f[A] &= \{y_1, y_1, y_1, y_2\} \\ &= \{3/y_1, 1/y_2\} \end{aligned} \tag{1}$$

whereas $f(A) = \{y_1, y_2\}$.

Remark: The symbol $\{\cdot\}$ is used for both ordinary sets and multisets. Note also that the right hand expression of (1) uses $C_B(y)$ which means the number of symbols of y in B . Generally,

$$B = \{C_B(y_i)/y_i\}_{i=1, \dots, m}.$$

A simple method of calculating the ordinary image $f(A)$ in the following uses $f[A]$:

1. Apply f sequentially to each $x \in A$ and output $f(x)$. (Thus, $f[A]$ is obtained.)
2. For more than one occurrence of a symbol, say y, \dots, y in $f[A]$, reduce them into one occurrence: y .

The mapping defined by the above step 2 is denoted by \mathcal{P} . \mathcal{P} is defined on the class of all multisets of Y onto the class of all ordinary sets of Y . $\mathcal{P}(f[A]) = \{y_1, y_2\}$ in the above example. The mapping \mathcal{P} is called a projection here. Thus, we have

$$f(A) = \mathcal{P}(f[A]) \quad (2)$$

Notice also that

$$f[A] = \bigoplus_{x \in A} f(x) \quad (3)$$

using the multiset addition \oplus , while the ordinary image is

$$f(A) = \bigcup_{x \in A} f(x) \quad (4)$$

using the union \cup .

It is straightforward to generalize the multiset-valued mapping $f[\cdot]$ to the domain of fuzzy sets and fuzzy multisets. Let

$$A = \{(x, \mu), \dots, (x', \mu')\}$$

be a fuzzy multiset of X , i.e., an arbitrary pair (x, μ) and (x', μ') may or may not be identical. Thus,

$$f[A] = \{(f(x), \mu), \dots, (f(x'), \mu')\} \quad (5)$$

The authors have introduced the membership sequence [8]. Namely, for a given fuzzy multiset $B = \{(y, \nu), \dots, (y', \nu')\}$ of Y , the membership sequence for an element $y_i \in Y$ is the sequence made from of the collection of all memberships for y_i , arranged into the decreasing order: The membership sequence is denoted by

$$\mu_B^1(y_i), \dots, \mu_B^p(y_i)$$

($\mu_B^1(y_i) \geq \dots \geq \mu_B^p(y_i)$). The basic operations of the union and intersection are defined using the membership sequence. Appendix A provides a brief review of these operations.

Using the membership sequence, the projection \mathcal{P} is defined:

$$\mu_{\mathcal{P}(B)}(y_i) = \mu_B^1(y_i). \quad (6)$$

In contrast with $f[A]$, we define $f(A)$ for a fuzzy multiset to be $f(\mathcal{P}(A))$: It is obvious to see that $f(\mathcal{P}(A))$ is defined by using the extension principle. Thus, $f(A)$ is an ordinary fuzzy set regardless whether A is a multiset or not.

We have the following propositions, of which the proofs are given in Appendix B.

Proposition 1.

$$f(\mathcal{P}(A)) = \mathcal{P}(f[A]).$$

Example 2.

$$A = \{(x_1, 0.1), (x_1, 0.3), (x_4, 0.5), (x_4, 0.5), (x_5, 0.4)\}$$

is a fuzzy multiset. Using f in Example 1,

$$f[A] = \{(y_1, 0.1), (y_1, 0.3), (y_2, 0.5), (y_2, 0.5), (y_2, 0.4)\}.$$

Moreover,

$$\mathcal{P}(A) = \{0.3/x_1, 0.5/x_4, 0.4/x_5\}.$$

Proposition 2.(Commutativity with the α -cut)

Let A be a fuzzy multiset of X . For an arbitrary $\alpha \in (0, 1]$,

$$f[A_\alpha] = (f[A])_\alpha$$

and

$$\mathcal{P}(A_\alpha) = (\mathcal{P}(A))_\alpha.$$

Proposition 3. Let A_1, A_2 be fuzzy multisets of X . Then,

$$f[A_1 \oplus A_2] = f[A_1] \oplus f[A_2] \quad (7)$$

$$f[A_1 \cup A_2] \supseteq f[A_1] \cup f[A_2] \quad (8)$$

$$f[A_1 \cap A_2] \subseteq f[A_1] \cap f[A_2] \quad (9)$$

$$f(A_1 \oplus A_2) \subseteq f(A_1) \oplus f(A_2) \quad (10)$$

$$f(A_1 \cup A_2) = f(A_1) \cup f(A_2) \quad (11)$$

$$f(A_1 \cap A_2) \subseteq f(A_1) \cap f(A_2) \quad (12)$$

$$\mathcal{P}(A_1 \oplus A_2) = \mathcal{P}(A_1) \cup \mathcal{P}(A_2) \quad (13)$$

$$\mathcal{P}(A_1 \cup A_2) = \mathcal{P}(A_1) \cup \mathcal{P}(A_2) \quad (14)$$

$$\mathcal{P}(A_1 \cap A_2) = \mathcal{P}(A_1) \cap \mathcal{P}(A_2) \quad (15)$$

3 Multivariable functions

Let us consider three universes $W = \{w_1, \dots, w_\ell\}$, $X = \{x_1, \dots, x_m\}$ and $Y = \{y_1, \dots, y_n\}$. Consider two-variable function $f: W \times X \rightarrow Y$. Our purpose is to consider $f[A, B]$ where A (resp. B) is a fuzzy multiset of W (resp. X).

Assume

$$A = \{(w, \mu), \dots, (w', \mu')\}$$

$$B = \{(x, \nu), \dots, (x', \nu')\}$$

in which a symbol may be repeated. A multiset Cartesian product is defined:

$$A \times B = \{((w, x), \mu \wedge \nu), \dots, ((w', x'), \mu' \wedge \nu')\}$$

in which all combinations of symbols in A and those in B are listed.

Now, the definition of $f[A, B]$ is as follows.

$$f[A, B] = \{(f(w, x), \mu \wedge \nu), \dots, (f(w', x'), \mu' \wedge \nu')\} \quad (16)$$

Then we have

Proposition 4.

$$f(\mathcal{P}(A), \mathcal{P}(B)) = \mathcal{P}(f[A, B]).$$

Proposition 5. For an arbitrary $\alpha \in (0, 1]$,

$$f[A_\alpha, B_\alpha] = (f[A, B])_\alpha$$

Proposition 6. Let A_1, A_2 be fuzzy multisets of W and B be a fuzzy multiset of X . Then,

$$f[A_1 \oplus A_2, B] = f[A_1, B] \oplus f[A_2, B] \quad (17)$$

$$f[A_1 \cup A_2, B] \supseteq f[A_1, B] \cup f[A_2, B] \quad (18)$$

$$f[A_1 \cap A_2, B] \subseteq f[A_1, B] \cap f[A_2, B] \quad (19)$$

$$f(A_1 \oplus A_2, B) \subseteq f(A_1, B) \oplus f(A_2, B) \quad (20)$$

$$f(A_1 \cup A_2, B) = f(A_1, B) \cup f(A_2, B) \quad (21)$$

$$f(A_1 \cap A_2, B) \subseteq f(A_1, B) \cap f(A_2, B) \quad (22)$$

Functions $f(w, x, \dots, z)$ of many variables can be dealt with in the same way. We omit the detail.

4 Conclusion

A multiset-valued image of fuzzy multisets has been studied and theoretical properties have been contrasted with the ordinary image. In particular, commutativity of the new image with α -cut has been proved.

Applications include query languages for fuzzy database, since it is well-known that the ordinary SQL handles crisp multisets. Therefore fuzzy SQL [1] should deal with fuzzy multisets. Moreover applications to information retrieval [7] should be studied.

Another interesting property is that infinite fuzzy multisets should be studied [9], while all arguments for the crisp case is finite. Thus, future studies of the theory and applications are promising.

Acknowledgment

The present research has partly been supported by TARA (Tsukuba Advanced Research Alliance), University of Tsukuba.

Appendix A: Basic operations of fuzzy multisets

A crisp multiset of X is characterized by $C_M: X \rightarrow \mathbb{N}$ which implies that the number of copies of x is $C_M(x)$. We may write a multiset M as $M = \{k_1/x_1, \dots, k_n/x_n\}$ or $M = \overbrace{\{x_1, \dots, x_1\}}^{k_1}, \dots, \overbrace{\{x_n, \dots, x_n\}}^{k_n}$ to show $C_M(x_i) = k_i$.

For example, let $X = \{a, b, c, d\}$. A multiset

$$M = \{a, a, b, b, b, c\}$$

is expressed as

$$M = \{2/a, 3/b, 1/c, 0/d\}.$$

We have $C_M(a) = 3$, $C_M(b) = 2$, $C_M(c) = 1$, $C_M(d) = 0$.

Basic relations and operations for crisp multisets are as follows.

- (inclusion):
 $M \subseteq N \Leftrightarrow C_M(x) \leq C_N(x), \forall x \in X.$
- (equality):
 $M = N \Leftrightarrow C_M(x) = C_N(x), \forall x \in X.$
- (union):
 $C_{M \cup N}(x) = \max[C_M(x), C_N(x)].$
- (intersection):
 $C_{M \cap N}(x) = \min[C_M(x), C_N(x)].$
- (addition):
 $C_{M \oplus N}(x) = C_M(x) + C_N(x).$

A fuzzy multiset is defined to be a crisp multiset of $X \times [0, 1]$ [13]. An example is

$$A = \{(a, 0.2), (a, 0.3), (b, 1), (b, 0.5), (b, 0.5)\}$$

of the universe $X = \{a, b, c, d\}$.

For an arbitrary $x \in X$, we can arrange those (x, μ) into the decreasing order of their membership. We thus write

$$\mu_A^1(x), \mu_A^2(x), \dots, \mu_A^p(x)$$

($\mu_A^1(x) \geq \mu_A^2(x) \geq \dots \geq \mu_A^p(x)$) and call this sequence a membership sequence.

If the universe is finite, we can assume that all the membership sequences are of the same length, by appending appropriate numbers of zero memberships.

For the above example,

$$A = \{(0.3, 0.2, 0)/a, (1, 0.5, 0.5)/b, (0, 0, 0)/c, (0, 0, 0)/d\}.$$

1. **inclusion:**
 $A \subseteq B \Leftrightarrow \mu_A^j(x) \leq \mu_B^j(x), j = 1, \dots, p, \forall x \in X.$
2. **equality:**
 $A = B \Leftrightarrow \mu_A^j(x) = \mu_B^j(x), j = 1, \dots, p, \forall x \in X.$
3. **union:**
 $\mu_{A \cup B}^j(x) = \mu_A^j(x) \vee \mu_B^j(x), j = 1, \dots, p, \forall x \in X.$
4. **intersection:**
 $\mu_{A \cap B}^j(x) = \mu_A^j(x) \wedge \mu_B^j(x), j = 1, \dots, p, \forall x \in X.$
5. **α -cut:**
 $\mu_A^j(x) < \alpha \Rightarrow C_{A_\alpha}(x) = 0,$
 $\mu_A^j(x) \geq \alpha, \mu_A^{j+1}(x) < \alpha \Rightarrow C_{A_\alpha}(x) = j,$
 $j = 1, \dots, p.$

6. **addition:** Addition is defined by the addition of crisp multisets of $X \times [0, 1]$.

Proposition A1. Let A and B are fuzzy multisets of X . Then, $A \subseteq B$ if and only if $A_\alpha \subseteq B_\alpha$ for every $\alpha \in (0, 1]$. Moreover $A = B$ if and only if $A_\alpha = B_\alpha$ for every $\alpha \in (0, 1]$.

Proposition A2. Let A and B are fuzzy multisets of X , and fix $\alpha \in (0, 1]$ arbitrarily.

$$\begin{aligned}(A \cup B)_\alpha &= A_\alpha \cup B_\alpha, \\ (A \cap B)_\alpha &= A_\alpha \cap B_\alpha.\end{aligned}$$

Proposition A3. Let A , B , and C be fuzzy multisets of X . Then we have

$$\begin{aligned}A \cup B &= B \cup A, & A \cap B &= B \cap A, \\ A \cup (B \cup C) &= (A \cup B) \cup C, \\ A \cap (B \cap C) &= (A \cap B) \cap C, \\ (A \cap B) \cup C &= (A \cup C) \cap (B \cup C), \\ (A \cup B) \cap C &= (A \cap C) \cup (B \cap C).\end{aligned}$$

Appendix B: Proofs of propositions

Proof of Proposition 1

If $y \notin f(X)$,

$$\mu_{f(\mathcal{P}(A))}(y) = \mu_{\mathcal{P}(f[A])}(y) = 0.$$

If $y \in f(X)$,

$$\begin{aligned}\mu_{f(\mathcal{P}(A))}(y) &= \bigvee_{x \in f^{-1}(y)} \mu_{\mathcal{P}(A)}(x) \\ &= \bigvee_{x \in f^{-1}(y)} \mu_A^1(x) = \mu_{\mathcal{P}(f[A])}(y).\end{aligned}$$

Proof of Proposition 2

Let us fix an arbitrary $\alpha \in (0, 1]$. Assume also that $A = \{(x', \mu'), \dots, (x'', \mu'')\}$. Suppose that $\{(z, \nu), \dots, (z'', \nu'')\}$ is the collection of all elements in A such that $\mu \geq \alpha$. Then, $A_\alpha = \{(z, 1), \dots, (z'', 1)\}$, hence

$$f[A_\alpha] = \{(f(z), 1), \dots, (f(z''), 1)\} = (f[A])_\alpha.$$

For \mathcal{P} ,

$$x \in \mathcal{P}(A_\alpha) \Leftrightarrow \mu_A^1(x) \geq \alpha \Leftrightarrow x \in \mathcal{P}(A)_\alpha.$$

Proof of Proposition 3

Let us first assume that all multisets are crisp. For addition, $A_1 \oplus A_2$ simply lists elements in A_1 and A_2 with redundancies. Hence $f[A_1 \oplus A_2]$ is exactly the same as the listing of $f[A_1]$ and $f[A_2]$. It therefore is obvious that

$$f[A_1 \oplus A_2] = f[A_1] \oplus f[A_2].$$

Next, notice

$$C_{f[A_1]}(x) = \sum_{x \in f^{-1}(y)} C_{A_1}(x),$$

whereby we have

$$\begin{aligned}C_{f[A_1] \cup f[A_2]}(y) &= C_{f[A_1]}(y) \vee C_{f[A_2]}(y) \\ &= \left(\sum_{x \in f^{-1}(y)} C_{A_1}(x) \right) \\ &\quad \vee \left(\sum_{x \in f^{-1}(y)} C_{A_2}(x) \right) \\ &\leq \sum_{x \in f^{-1}(y)} (C_{A_1}(x) \vee C_{A_2}(x)) \\ &= C_{f[A_1 \cup A_2]}(y); \\ C_{f[A_1] \cap f[A_2]}(y) &= C_{f[A_1]}(y) \wedge C_{f[A_2]}(y) \\ &= \left(\sum_{x \in f^{-1}(y)} C_{A_1}(x) \right) \\ &\quad \wedge \left(\sum_{x \in f^{-1}(y)} C_{A_2}(x) \right) \\ &\geq \sum_{x \in f^{-1}(y)} (C_{A_1}(x) \wedge C_{A_2}(x)) \\ &= C_{f[A_1 \cap A_2]}(y).\end{aligned}$$

The other relations are proved likewise.

Now, consider fuzzy multisets. For proving the same set of relations for the fuzzy case, we can use Proposition 2 and Proposition A2. For example,

$$\begin{aligned}(f[A_1] \cup f[A_2])_\alpha &= f[A_1]_\alpha \cup f[A_2]_\alpha \\ &= f[A_{1\alpha}] \cup f[A_{2\alpha}] \\ &\supseteq f[A_{1\alpha} \cup A_{2\alpha}] \\ &= f[A_1 \cup A_2]_\alpha \\ &= f[A_1 \cup A_2]_\alpha\end{aligned}$$

From Proposition A1, we have the second relation. The other relations are proved in the same way.

Proof of Proposition 4

Let (w_1, μ_1) and (x_1, ν_1) be the elements for which μ_1 (resp. ν_1) is the maximum among all μ 's (resp. ν 's). Then the left hand side is $(f(w_1, x_1), \mu_1 \wedge \nu_1)$ using the extension principle. while the element of the maximum membership in $f[A, B]$ is obviously $\mu_1 \wedge \nu_1$ with the corresponding element is $f(w_1, x_1)$. Thus the desired equality follows.

Proof of Proposition 5

The proof is almost the same as that for Proposition 2, and therefore the details are omitted.

Proof of Proposition 6

As the proof of Proposition 3, let us first suppose that all multisets are crisp.

The first equation is obvious. See the proof of Proposition 3.

For the second relation, we observe

$$\begin{aligned}
 & C_{f[A_1, B] \cup f[A_2, B]}(y) \\
 = & C_{f[A_1, B]}(y) \vee C_{f[A_2, B]}(y) \\
 = & \left(\sum_{(w, x) \in f^{-1}(y)} C_{A_1 \times B}(w, x) \right) \\
 & \vee \left(\sum_{(w, x) \in f^{-1}(y)} C_{A_2 \times B}(w, x) \right) \\
 \leq & \sum_{(w, x) \in f^{-1}(y)} (C_{A_1 \times B}(w, x) \\
 & \vee C_{A_2 \times B}(w, x)) \\
 = & \sum_{(w, x) \in f^{-1}(y)} C_{A_1}(w) \cdot C_B(x) \\
 & \vee C_{A_2}(w) \cdot C_B(w, x) \\
 = & \sum_{(w, x) \in f^{-1}(y)} (C_{A_1}(w) \vee C_{A_2}(w)) \cdot C_B(w, x) \\
 = & \sum_{(w, x) \in f^{-1}(y)} (C_{(A_1 \cup A_2) \times B}(w, x)) \\
 = & C_{f[A_1 \cup A_2, B]}(y).
 \end{aligned}$$

The third relation is proved as follows.

$$\begin{aligned}
 & C_{f[A_1, B] \cap f[A_2, B]}(y) \\
 = & C_{f[A_1, B]}(y) \wedge C_{f[A_2, B]}(y) \\
 = & \left(\sum_{(w, x) \in f^{-1}(y)} C_{A_1 \times B}(w, x) \right) \\
 & \wedge \left(\sum_{(w, x) \in f^{-1}(y)} C_{A_2 \times B}(w, x) \right) \\
 \geq & \sum_{(w, x) \in f^{-1}(y)} (C_{A_1 \times B}(w, x) \\
 & \wedge C_{A_2 \times B}(w, x)) \\
 = & \sum_{(w, x) \in f^{-1}(y)} C_{A_1}(w) \cdot C_B(x) \\
 & \wedge C_{A_2}(w) \cdot C_B(w, x) \\
 = & \sum_{(w, x) \in f^{-1}(y)} (C_{A_1}(w) \wedge C_{A_2}(w)) \cdot C_B(w, x) \\
 = & \sum_{(w, x) \in f^{-1}(y)} (C_{(A_1 \cap A_2) \times B}(w, x)) \\
 = & C_{f[A_1 \cap A_2, B]}(y).
 \end{aligned}$$

In the fourth relation, the right side is a multiset, while the left side is an ordinary set, and hence the inclusion is valid. For the rest two relations, the situation is just the same as those for ordinary sets in view of the definition $f(\cdot)$. Thus all relations for the crisp case is proved.

For the fuzzy case, we can use the commutativity of the operations with the α -cut, as in the proof of Proposition 3. For example, using Proposition 5, we have

$$\begin{aligned}
 & (f[A_1 \cup A_2, B])_\alpha \\
 = & (f[(A_1 \cup A_2)_\alpha, B_\alpha]) \\
 = & (f[(A_1)_\alpha \cup (A_2)_\alpha, B_\alpha]) \\
 \supseteq & (f[(A_1)_\alpha, B_\alpha] \cup f[(A_2)_\alpha, B_\alpha]) \\
 = & f[A_1, B]_\alpha \cup f[A_2, B]_\alpha \\
 = & (f[A_1, B] \cup f[A_2, B])_\alpha.
 \end{aligned}$$

From Proposition A1, we have the second relation for the fuzzy case. The other relations are proved in exactly the same way.

References

- [1] P. Bosc, Some approaches for processing SQLf nested queries, *International Journal of Intelligent Systems*, 11, 9, pp. 613–632, 1996.
- [2] J. Celko. *Joe Celko's SQL for Smarties: Advanced SQL Programming*, Morgan Kaufmann, 1995.
- [3] D. E. Knuth, *The Art of Computer Programming, Vol.2 / Seminumerical Algorithms*, Addison-Wesley, Reading, Massachusetts, 1969.
- [4] B. Li, W. Peizhang, and L. Xihui, Fuzzy bags with set-valued statistics, *Comput. Math. Applic.*, 15, pp. 811–818, 1988.
- [5] B. Li, Fuzzy bags and applications", *Fuzzy Sets and Systems*, 34, pp. 61–71, 1990.
- [6] Z. Manna and R. Waldinger, *The Logical Basis for Computer Programming, Vol. 1: Deductive Reasoning*, Addison-Wesley, Reading, Massachusetts, 1985.
- [7] S. Miyamoto, *Fuzzy Sets in Information Retrieval and Cluster Analysis*, Kluwer Academic Publishers, Dordrecht, 1990.
- [8] K. S. Kim and S. Miyamoto, Application of fuzzy multisets to fuzzy database systems, *1996 Asian Fuzzy Systems Symposium*, Dec. 11–14, 1996, Kenting, Taiwan, R.O.C., pp. 115–120, 1996.

- [9] S. Miyamoto, Fuzzy multisets with infinite collections of memberships, *Proc. of the 7th International Fuzzy Systems Association World Congress (IFSA '97)*, June 25-30, 1997, Prague, Czech, Vol.I, pp. 61-66.
- [10] A. Ramer and C.-C. Wang, Fuzzy multisets, *Proc. of 1996 Asian Fuzzy Systems Symposium*, Dec. 11-14, 1996, Kenting, Taiwan, pp. 429-434.
- [11] A. Rebai, Canonical fuzzy bags and bag fuzzy measures as a basis for MADM with mixed non cardinal data, *European J. of Operational Res.*, 78, pp. 34-48, 1994.
- [12] A. Rebai, J.-M. Martel, A fuzzy bag approach to choosing the "best" multiattributed potential actions in a multiple judgement and non cardinal data context, *Fuzzy Sets and Systems*, 87, pp. 159-166, 1997.
- [13] R. R. Yager, On the theory of bags, *Int. J. General Systems*, 13, pp. 23-37, 1986.
- [14] R. R. Yager, Cardinality of fuzzy sets via bags, *Mathl. Modelling*, 9, 6, pp. 441-446, 1987.